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FOREWORD

The National Examinations Council of Tanzania (NECTA) is delighted to issue the
Candidates’ Items Response Analysis (CIRA) report on the Certificate of
Secondary Education Examination (CSEE), which was done in November, 2023.
This report aims to provide feedback to all educational stakeholders on the factors
that contributed to the candidates’ performance in Arabic Language.

The Certificate of Secondary Education Examination (CSEE) is a summative
evaluation that intends to provide feedback to all educational stakeholders on the
factors that affected the candidates’ performance in the Arabic Language subject.
The report highlights their performance on each question from the topics in which
they were tested. Analysis shows that the candidates with good performance on
different questions demonstrated competence and knowledge of grammatical rules,
Balagha, Swarfu. Moreover, they had sufficient basic vocabulary to use in
different contexts as well as the ability to interpret simple stories. However,
candidates who scored low marks faced difficulties in responding to the questions
due to lack of such attributes.

This report will help students to identify strengths and weaknesses for them to
improve learning before sitting for their Certificate of Secondary Education
Examination (CSEE). It will also help teachers to identify the challenging areas
and take appropriate measures during the teaching and learning processes.

The National Examinations Council of Tanzania expects that all education
stakeholders will use the feedback and recommendations provided in this report to
improve teaching and learning as well as candidates’ performance in the future
examinations administered by the Council.

The National Examinations Council of Tanzania appreciates the contribution of all
who participated in preparing this report.

Dr. Said Ally Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the performance of candidates who sat for the Certificate of
Secondary Education Examination (CSEE) in Arabic Language subject in 2023.

Arabic Language subject paper consisted of 11 questions, with sections A, B
and C. Candidates were supposed to answer 10 questions in total. In section A
and B, the candidates were required to attempt all the questions. In section C,
the candidates were required to answer two (2) out of three questions.

Section A had two (2) questions, in which question one (1) had ten (10) items
that carried 10 marks and question two (2) had six (6) items that carried six (6)
marks, making a total of 16 marks. Section B had six (6) questions; each
question carried nine (9) marks, making a total of 54 marks. Section C had three
optional questions, each carrying 15 marks.

The total number of the candidates who sat for the Certificate of Secondary
Education Examination (CSEE) in 2023 in Arabic Language subject was
14,681. Among them, 3,919 (26.83%) candidates passed and 10,762 (73.17%)
candidates failed. In 2022, candidates who sat for the Certificate of Secondary
Education (CSEE) were 16,602. Among them, 4,054 (24.58%) candidates
passed and 12,548 (75.42%) candidates failed. This implies that the
performance of the candidates in 2023 has increased by 2.25 per cent compared
to the year 2022.

The analysis of the performance for the Certificate of Secondary Education
Examination Examination (CSEE) in Arabic Language subject delineates the
requirements of each question and the expected responses. Additionally, it
illustrates how candidates answered the questions. However, samples of both
good and weak responses obtained from the scripts of the candidates on each
question are attached to this report to verify the cases presented.

The rating of candidates’ performance has been grouped as ‘good’, ‘average’
and ‘weak’. In this analysis, the performance ranging from 65 to 100 per cent
has been categorised as ‘good’ and is represented by green colour; the
performance ranging from 30 to 64 per cent has been categorised as ‘average’
and is represented by yellow colour; and the performance ranging from 0 to 29
per cent has been categorised as ‘weak’ and is represented by red colour. The
overall candidates’ performance is summarised in the Appendix.



2.0 ANALYSIS ON THE CANDIDATES’ PERFORMANCE ON EACH

2.1

QUESTION

SECTION A: Multiple Choice and Matching Items

This section consisted of two (2) questions. The candidates were required to
attempt all the questions. Question one (1) was multiple-choice question with
ten items. Each item correctly answered, carried 1 mark, making a total of 10
marks. Question two (2) was matching items with six (6) items. Each item
correctly answered carried one (1) mark, making a total of six (6) marks.
Therefore, the total marks in this section was 16 marks.

2.1.1 Question 1: Multiple Choice Items

This was a compulsory question. It consisted of 10 multiple choice items
derived from various topics of the syllabus. The candidates were required to
choose the correct answer from the given alternatives and write its letter beside
the item number in the answer booklet provided.

The question was attempted by 14,681 (100.00%) candidates. A total of 708
(4.83%) candidates scored from 7.0 to 10.0 marks, which is a good
performance. In addition, 5,362 (36.52%) candidates scored from 3.0 to 6.0
marks, which is an average performance. Lastly 8,611 (58.65%) candidates
scored from 0.0 to 2.0 marks, which is a weak performance. The general
performance in this question was average since 6,070 (41.35%) candidates
scored from 3.0 to 10.0 marks. The overall candidates’ performance in the
question is summarised in Figure 1.
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Figure 1: Candidates’ Performance in Question 1
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The analysis of each item in this question is as follows:

Item (1) was,
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The item was about Adverbs (ﬁjﬁﬂ). In this item, the candidates were required
to identify adverb of time found in the alternatives. The item intended to
recognize the ability of the candidates regarding the types of adverbs. The
correct answer was e in (g). The Candidates who were knowledgeable of
adverbs (uw-é-fb opted for the right answer (). The candidates were aware that,
among the options provided it was only option (z) which was an adverb of time
(,d’-iﬂ/ <i3B). In addition, these candidates demonstrated the ability to distinguish
between two types of adverbs. Also, they understood the meaning of each word
among the adverbs provided in the item.

However, the candidates who selected other distractors were wrong. This is
because, the remaining alternatives were adverbs of place and not time. These
candidates were incompetent in Adverbs. Furthermore, they failed to distinguish
between the two types of adverbs among the given alternatives. In addition to
that, they failed to understand the meaning of this distractor.

General analysis of the candidates’ performance on this item shows that, the
candidates who opted for the correct answer demonstrated higher ability of
using Ci L) (Adverbs), whereas those who chose other alternatives showed
incompetence in using <434/ (Adverbs).



Item (2) was,
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This item was from the Conjunction (dil;i-fl). The candidates were required to
demonstrate correct result of connecting two sentences by wawu al-atwfu ( 4.
ub-fo by choosing the correct answer from the given alternatives. The item
examined the candidates’ ability to use conjunctions. The candidates who were
knowledgeable on conjunction chose the correct answer (i) _acs Sk AU
(Othman and Omar slept). These candidates understood that attracting noun
(4 <iskia always follows the condition of attracted noun’s inflection ( <L/
djﬁiifl). This means that, when attracted noun is in nominative, accusative or
genitive cases then the attracting ones should follow the inflection of the
attracted one. In Arabic syntax, these kinds of nouns are under umbrella of the
Followers (&/5).

However, some of the candidates, selected distractor () s St AL were
wrong. Those who selected this distractor thought that the verb (54 (he slept)
was transitive verb (g3eial Juf/) in which its subject is latent personal (s
Therefore, the nouns (<€ ulw) are objects and not subject of the verb. That is
why they both were in accusative case with sound /a/ (¢ s<add).

In addition, the candidates who selected the distractor (z) €4 uL«-fc AU were
wrong. However, some of them thought that, the verb a4 changes the word after
it to be in genitive case. However, they failed to know that, the words uLuc and
<€ are among the un-swarf nouns.



Furthermore, those who chose the distractor (3) (€4 Slaké AL) were also wrong.
The candidates incorrectly thought that, the word s was among the words that
change the word that follows it to genitive case. However, they failed to know
that, the correct sign for the word < if the word 44 could be harf al-jarr was
kasra.

On the other hand, some of the candidates opted for the distractor () u&ic AL
€4 The candidates, incorrectly thought, that, the word ¢ta was dual noun
whose sign of raf’u is letter alif.

Generally, the candidates who identified the correct answer in this item were
familiar with coordination (<é&¢) in Arabic syntax, while those who failed
lacked such knowledge.

Item (3) was:
&Ll U_\um\m@;:u\mj\m meﬂjn’”
(5% G Jsl b ks
G d3

’L.a.u’.aﬂj\;\.;a o
&b.l‘)fooﬁ]juw -z
u.a.\_)aoﬂj.“uls -d
L;.ﬂfﬂ}njas;m "

The item was about Arabic state adverb (Jtad). The candidates were required to
identify the sentence that is in isluub al-haal (haal style) (Jiaf cisdw). The item
measured the candidate’s knowledge of using isluub al-haal (haal style) <)
(Jad Some of the candidates successfully determined the correct answer ()
L e 4 B&Gl) (The boy woke up while he was sick). The context of the
sentence clarified the state of the boy when he woke up. In other words, the
sentence answered the question of interrogative “how” («&%). The indicator
which led candidates to select the right option was the verb (£&ia). All of these
facts indicate that candidates had sufficient knowledge of Arabic syntax. As a



result, they realized the appropriate sentence in the isluub al-haal (haal style)
((Jad sl among the options provided.

Unlikely, the candidates who chose both distractors (1) (i 4 (The boy is
sick), (¢) i s4l5 <5 (The Father his son is sick) and (2) Jix L&l Si8 (As if
the boy is sick) were wrong. This indicates that they lacked knowledge of state
adverb (Jid).

Those who selected both distractors (&) L gl (The boy became sick)
and (zg) Jais #dl5 ¥ (The Father his son is sick) were also wrong. The
candidates who opted for the (<) Laiss 44l jLa (The boy became sick) focused
on meaning of sentences in Swabhili language and ignored the functions of words
in sentence. These candidates focused on the meaning of the verb (Ui (he
became) and forgot its core function; which is to make the first noun in a
sentence to be in nominative case (5”,,5-‘7;1% and second one to be in accusative
case (g5, The first noun is called (Ut 44) and the second one is called ( Jss
Jka). These candidates did not understand that, the deficient verb (Ut do not
operate the status (Jiad) .

Item (4) was,
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The item was about @U-E’/(Annulars). In this item, the candidates were required
to identify the word which makes the first noun (al-mubtadau) to be in
nominative case (5,4-0% and the second noun (al- khabar) to be in accusative
case (ss<id). Those who were knowledgeable of @««/J-J/ (Annulars) opted for
the right answer (z). They knew that, among the options provided it was only
the word in option (z) which makes the first noun to be in nominative case
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(éﬂ% and the second noun to be in accusative case (s<s«d). This annular ()
is under umbrella of Kaana and its counterparts (&/43/5 &&). The candidates
who responded correctly to this item had sufficient knowledge on Annulars.

On the other hand, the candidates who chose distractors (1) &/and (<) &/ were
wrong. They failed to distinguish between them and the correct answer (z)
(¢«4. This indicates that they had insufficient knowledge about Annulars.

In addition to that, those who selected both distractors (2) (<) and () (J&)
were also wrong. This is due to the fact that, they are both among Inna and its
counterparts (léj/ﬁ/} &) which make the first noun to be in accusative case
(<#<i9 and the second noun to be in nominative case (éjﬁi’w). The candidates
were distracted by the resemblance of both distractors and the correct answer in
terms of number of letters and the first letter.

In nutshell, those who selected wrong alternatives lacked sufficient knowledge
of Annulars (Z&«/+2), hence failed to distinguish Kaana and its counterparts ( S&
1133/4 and Inna and its counterparts (45505 &) and their effects on nominal
sentences.

Item (5) was,
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The item was about verbs. It required the candidates to identify the category
under which the verb (é«éf/) fell among the given options. The candidates who
opted for the correct answer (2) had sufficient knowledge of verbs. They
realized that, the mentioned verb felt in intransitive verb group (ﬁ,v’if/ JuJ/) The




only indicator led them to choose this option was that the verb did not demand
an object (4 J¢243).

The candidates who chose both distractors (1) Gl and (g) g t<aal were
wrong. This is because these distractors did not have any relation with the verb
(<#4). The candidates confused them with the correct answer because some
times glall Jedll (past verb) and gLl Jodll (present verb) have sign sukuun on
their last consonants.

In addition to that, those who selected the distractor () &4¢idf (transitive verb)
were also wrong. This is because a transitive verb (a-"-u-f/ Jedd) is that one which
demands an object (4 JM while the verb (uﬂ-ﬂ) does not demand an object
The candidates confused the definition of & (transitive verb) and (yJU/ Jadl)
(intransitive verb). This indicates that, the candidates had partial knowledge on
Arabic verbs.

Furthermore, those who chose item () (J€4f) (defective verb) were wrong.
This is due to the fact that, the verb (i) (defective verb) is a verb that ends
with defective letters (‘U'-f/ <iga); namely, aer alif, waw and yaa, but the verb
(ewo was not like that. The candidates thought that, the verb, (94-'1) was the
defective verb because of the letter alifu in the beginning of the verb. This is
because the candidates had partial knowledge of defective verb.

Item (6) was,
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This item was about attached pronouns (Jwaidl sita). The candidates were
instructed to identify an appropriate possessive pronoun which can be affixed
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with the noun (<9 (books). The candidates who were knowledgeable in this
topic, selected the option (z). They realized that, the possessive pronoun (J)
(their (female plural)) would fit to the given sentence since it refers to subject
(éwl-éﬂ) (female students) which is also a noun for feminine plural. Therefore,
by choosing that pronoun would bring concordization between the noun and the
pronoun. This is to show that, this group of candidates are competent enough in
this topic.

Contrary to that, those who went for other alternatives, were simply
incompetent in affixed pronouns. For instance, in the distractor () the word (&9
refers to plural masculine noun and in the distractor (<), the pronoun (4) refers
to singular masculine noun. Therefore, choosing one of the distractors will
cause to lack concordization between the noun (<Lithf) and possessive
pronouns.

Item (7) was,
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This question was about exception (;’Lﬁi&)ﬂ). The candidates were given a task
of choosing a suitable al-istithnaai sentence (4wliiuy/ 4laa) from among the
given alternatives. Those who had a good understanding on exceptions opted for
the option (1) “dals ¥ <igiah &5 (All guests returned except one). The
candidates understood that, inflection of included noun (4-'-4 (~ed) depends on
its position in a sentence. Hence, they determined that, in this sentence, it was in
nominative case (éjﬂ%, because it is in a position of subject (Jclfb On the other
hand, the candidates understood that, according to the sentence structure, the
excluded noun (i) should be in accusative case (oicais).



Contrary to the above, those who selected distractors (<) (dals ¥ Cigicall £a)
and (3) (15 ¥ i gial &) were wrong. The candidates incorrectly thought that,
if the sentence is not in the negative and the muthtathnaa minhu is mentioned,
then the word illaa does not change muthtathnaa.

In the other hand, the candidates who selected distractors (z) ( ¥/ gl &
aa/j) and (05 ¥ i gl &) incorrectly thought that, if the sentence is not in
the negative and the muthtathnaa minhu is mentioned, then the word illaa
changes the noun after it to be in genitive case.

Therefore, those who managed to choose the correct option were competent
enough in Exclusion, while those who opted for other alternatives lacked that
skill.

Item number (8) was,
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The item was about literary texts (4w2¥ uas<aif). It tasked candidates to identify
two types of Arabic literature among the given alternatives. The candidates who
opted for the correct answer () _Jed/s iy (prose and poem) understood that,
Arabic literature has two types. This means that, these candidates possessed
enough knowledge of this area of literature in their level.

Conversely, candidates who chose the distractor (i) (in‘#&flj add) (poem and
inner feelings) and (<) il e (poem and literature analysis) were wrong.
The thing distracted them from choosing the correct option was the existence of
a word (Ue) which was among the two (2) types of Arabic literature. They
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forgot to consider the second word mentioned in those distractors. This indicates
that these candidates had partial knowledge of the Arabic literature.

On the other hand, candidates who chose other alternatives: (z) Jusds ‘e-wf/
(simile and imagination) and () &5 <#La¥ (style and literature analysis) were
wrong. This is to say that, they lacked knowledge on Arabic literature.

Item number (9) was,
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The item was about Al-hakiikat and Al-majaaz (Jiaals 4édat). The candidates in
this item were required to determine a majazi sentence among the given
alternatives. Those who attempted the item correctly opted for option (2) /
" acadl Lty ARG LY (This lion s speaking the standard Arabic). The
indicator made them to choose this option is ‘@ﬂf (alqariinat) ‘4&%. This is
because there is no any lion in the world, which speaks as a human being. The
intention of the sentence was to make a comparison between a person who has
the attributes of lion such as courage and strength.

Moreover, after looking at other distractors, candidates realized that, all the
mentioned attributes were related to a lion. For example, the option (1) the
attribute was (AL 489 (is chasing gazelle). In option (<), there was ( S
4-vl=) (lives in a forest), in option (z) the attribute was (M/ il &5 4l (is
sleeping under the tree) and in option () there was (#.Jl /38 ;u cudd (is
drinking water of the river). All these attributes are normal to the lion. This
indicates that, they had sufficient knowledge of ‘e’ (personification) in
Arabic rhetoric for their level, plus they were rich in vocabulary.
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Contrarily, the candidates who chose distractors (), (&), () and (=) were
wrong. This is due to the fact that, they generalized that when a word ‘lion’
appears in a sentence it denotes the "_ita" (personification).

Item (10) was,

The item was about meaningful sentence (é4daf/ Ml) This item instructed
candidates to determine form of a verbal sentence. The candidates with
sufficient knowledge of verbal sentence opted for option (2) ‘Jed” (verb).
Contrastingly, the candidates who alternated for the distractor () (a<) (noun)
and (<) (J2d ra-T a«) (noun then verb) were wrong. This is because of the
requirement of the item instructed candidates to determine form of a verbal
sentence and not a nominal sentence. The aspect distracted them from choosing
right option, was focusing only on the word (4-£u-fl) (sentence) from the stem of
the item.

For candidates who chose distractors (z) (<4ds A Jelh and () (5449 were
wrong. This is due to the fact that, they lacked adequate knowledge on verbal
sentences.

Summing up the analysis on the question, the candidates who scored full marks
in this question were knowledgeable about various topics such as adverbs
(‘-UHO attraction (<ébef), status (Jd), annulars of subject and predlcate
(&wl5d), verbs, pronouns (Uiaa), exclusion ($Liy), literature (%) and

12



verbal sentences (4;'-&-4-” du-fl) However, the candidates who scored less,
showed incompetence on those topics.

2.1.2 Question 2: Matching items

The question consisted of six (6) matching items. It was about interrogative
partlcles (,ﬁlﬁ-‘-l“y/ 9Lwl) List ‘A’ consisted of interrogative particles ( flal
glg-q-wyo while List ‘B’ involved statements to be matched with the interrogative
particles (glg’-afi&y/ ;I-auo The candidates were required to match each
interrogative particle (plgdiy/ ;wa in List A with its corresponding statement
in List B by writing the letter of the corresponding response beside the item
number in the answer booklet provided. The question was:

.&ﬂéébl )3 cﬁ e &) ‘—“‘AJ ‘3—3#}“ FN ‘UL\SJ (L.A) ‘:Lf—y.u-“
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"d...u‘)q.a(d&lbl "y L (6o
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The question was attempted by 14,681 (100.00%) candidates, out of whom 717
(4.89%) scored from 4.0 to 6.0 marks, which is a good performance. Also, 3,625
(24.69%) candidates scored from 2.0 to 3.0 marks, which is an average
performance. Lastly, 10,339 (70.42%) candidates scored from 0.0 to 1.0 mark,
which is a weak performance. Therefore, the candidates’ general performance in
the question was average, considering that, 4,342 (29.58%) candidates scored
from 2.0 to 6.0 marks. The overall candidates’ performance in the question is
summarised in Figure 2.
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Figure 2: Candidates’ Performance in Question 2

The data shows that, the candidates (4.89%) mastered well Arabic Language
interrogative particles. The candidates, who scored full marks in this question,
had enough knowledge of Arabic interrogative particles and their use in the
sentences. They also, understood the meaning of all interrogatives particles and
their use in the questions. Further analysis shows that, 84.80 percent of the
candidates who had a good performance scored from 4.0 to 5.0 marks while
15.20 per cent of the candidates who had a good performance scored full marks
in this question. The candidates matched the items correctly as follow:

In item (1) (&) (What) with (R) $&8del S didild G (do you benefit from
revision?). The candidates were aware that, the interrogative (&) is always used
to ask about things and not humans. In addition, the candidates understood that
the statement was on something that one benefits from doing revision.

Moreover, the candidates matched item (2) &4 (who) with (3) fie zdf ‘-yé-fl
(the doctor who visited you?). The interrogative () used for humans only. The
sign that made candidates to opt for the option is a noun (uué-fl) (the doctor).
This is because the sentence was talking about him.

The candidates also matched item (3) <4 (when) with (J) faldl Ga a0 (do
you return from school?). They realized that, the interrogative (<9 (when) is
used to ask about time. The candidates understood that this sentence when
combined with the word (¢ 333Y) (to return) makes sense.

14



Furthemore, the candidates recognized that, the interrogative (3) in item (4)
should be matched with (i) -‘iijééj{:r éf L oJ-rlé-fb (travelling by aeroplane or
ship?). The candidates were directed by a conjuction (,55 (or) which always
gives a listener an option to select one between two. Therefore, the only option
they saw appropriate for the item was (") (do we?).

The candidates also, matched item (5) (&) (Which) with (<) &35 4353l b
(European country did you pay a visit?). The candidates directed by a noun (&)
(a country), which is post modifier in genitive case ended by sound /i/ ( 4/ CiLcas
3kl 155449, as the interrogative (&) is always followed by post modifier in
genitive case (Jde 4 ditad),

Furthermore, the candidates matched the item (6) (&%) (how many) with () L&
£ 4 (days in the year?). The indicator directed them is a noun (L) (days),
which is singular noun in accusative case (sjcais s il), as always the
interrogative (&%) followed by such kind of noun. Extract 2.1 is a sample of good
responses from one of the candidates.
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Extract 2.1: A Sample of the Candidates’ Responses to Question 2

The Extract 2.1 is a sample of responses from one of the candidates who
matched Colum A and B correctly.

Although the performance was good, 4,108 (24.69%) candidates scored average
marks. The analysis shows that, some of them matched correctly between two to
three items. This is attributed to the candidates’ partial knowledge of the subject
matter.

In the other side, (70.42%) candidates had a weak performance. This is because
they scored from 0.0 to 1.0 mark. Additionally, 32.25 scored zero. The
candidates failed to provide the appropriate responses by matching the items
incorrectly. Simply, they did not understand the meaning of Arabic interrogative
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and they were not rich in vocabulary. This shows that, the candidates had little
or no knowledge of interrogative particles. Extract 2.2 shows a sample of
incorrect responses from one of the candidates.

< <«—11")
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Extract 2.2: A Sample of the Candidates’ Responses to Question 2

The Extract 2.2 is a sample of a response from one of the candidates who scored
zero. The candidate matched the items incorrectly.

2.2 SECTION B: Short Answers

This section had six (6) questions. Each question carried 9 marks, making a total
of 54 marks. The candidates were required to answer all the questions.

2.2.1 Question 3: Jumbled Words
This question was about jumbled words in sentences and it had six items. The
candidates were instructed to re-arrange correctly the given words to form
meaningful sentences. The question measured the candidates’ ability to
construct meaningful sentences. The question was:

im).a;@u}ﬂ”’“‘z’\uwﬂ\‘,é;_g,

Osfig - L - Gl i el 0
€ 55 G- el RGBT
L gl Gl Qs das

Al - ‘_g &\a;ll-ua;j-ulﬁ\- ‘)Lu\.“ -

Sl - euA b g -G
o e e

The question was attempted by 14,681 (100.00%) candidates. Among them,
13,747 (93.64%) candidates scored from 0.0 to 1.5 marks, which is a weak
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performance. Yet, 785 (5.35%) candidates scored from 3.0 to 4.5 marks, which
is an average performance. Additionally, only 149 (1.01%) candidates scored
from 6.0 to 9.0 marks, which is a good performance. The performance in this
question was weak as 934 (6.36%) candidates scored from 3.0 to 9.0 marks. The
overall candidates’ performance in the question is summarised in Figure 3.

100 - 03.64
90 -
80 -
70 -
60 -
50 -
40 -
30 -
20 -
10 - >33 1.01

0 - | | |

00-1.5 30-45 6.0-9.0
Scores

Percentage of Candidates

Figure 3: Candidates’ Performance in Question 3

The candidates who performed poorly in this question lacked knowledge and
skills about Arabic sentence structure. Some of the candidates failed to
understand the demand of the question. Further analysis shows that, some of the
candidates skipped the question. There were also some candidates who relied on
guessing.

This analysis indicates that the candidates who failed in this question did not
know the Arabic Language sentence structure, hence; they re-arranged the
sentences incorrectly. Extract 3.1 shows a sample of a weak response from one
of the candidates in this question.
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Extract 3.1: A Sample of the Candidates’ Responses to Question 3

Extract 3.1 above shows a sample of responses from one of the candidates who
provided incorrect responses. The candidate arranged the words incorrectly.

The data shows that, (5.35%) candidates scored averagely. Most of them
correctly rearranged two sentences out of six jumbled sentences given in this
question. Furthermore, some of the candidates in this category left some parts of
the questions blank. This suggests that they had partial knowledge of the Arabic
Language sentence structure.

On the other hand, the candidates (1.01%) who mastered well Arabic syntax
were able to re-generate types of Arabic sentences. They managed to re-arrange
the given words correctly into meaningful sentences. One of the students who
scored full marks for example, wrote "Cialliv Gualell 5356 dialiat G jliti; sl
(The students are celebratlng because of returning of their teacher safely) for the
item (1) which was: G, - Sl — Cpalis  daiulidl — ekl 5146

In addition to that, the candidates wrote "feiall 438 akedll cutis s/ Sarr (Who
took teacher’s book on the desk?) in re-arranging the item (2) «daf— s/ clis

G — Ga— adeadl -

The candidates wrote, "cgidall ¢ 5 jlas G4l <2 (Khaldoun is beating his
donkey severely) for item (3) which was: e — Gpiaall — Jdls — cjd — 4 jlaa,

18



Also, the candidates wrote 'Z/Maﬁu-hlf/ Aud G L Giag” (1 found the thief
like a fox in tricks) to make the jumbled sentence in item (4) into a meaningful
sentence.

Moreover, the candidates arranged the sentence in item (5) as “ Lad adi) g3 50 Jb
"sa¢a Jadi (The poor person became rich because of his efforts) and finally in
item (6) they wrote: "figeiks Gj4dZl ¥ alié A7 (How many scholars do not
benefit with their knowledge?).

This suggests that, the candidates knew very well the arrangement of different
kinds of Arabic sentences in different forms. In addition, they understood the
meaning of words found in sentences. Extract 3.2 is a sample of responses from
one of the candidates who arranged the words correctly.
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Extract 3.2: A Sample of the Candidates’ Responses to Question 3

Extract 3.2 is a sample of responses from one of the candidates who managed to
re-arrange correctly the jumbled words into meaningful sentences as required.

2.2.2 Question 4: Conditions of Al-binaai and Al-i’iraab (<& ¥/s sidl S sa))

The question was about conditions of al-binaai and al-i’iraab U Jss))

(<=¥ls . This question had three (3) items. It required the candidates to
describe the conditions of imperfect verb to be structured (.~ by fat’ha and
sukuun in item one and two respectively. The candidates also were required to
describe the conditions of imperative verb to be structured (=) sukuun in item
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three. Furthermore, the candidates were required to add suitable examples in
their responses. The question was:

a;gum;‘;mm@ (F'ILLAS; ‘._1-_\\4
Tl e g el G e
M‘&L&Jw\dﬂ]\ EYYI -
.gM\&yY\dﬁ A -z

The question was attempted by 14,681 (100.00%) candidates. The data shows
that, 14,309 (97.47%) candidates scored from 0.0 to 2.5 marks, which is a weak
performance. Also, 153 (1.04%) candidates scored from 3.0 to 5.5 marks,
which is an average performance and 219 (1.49%) candidates scored from 6.0
to 9.0 marks, which is a good performance. The general performance of the
candidates in the question was therefore weak as only 372 (2.53%) candidates
scored from 3.0 to 9.0 marks. The overall candidates’ performance in the
question is summarised in Figure 4.

100 - Q7.47
90 -
80
70
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Percentage of Candidates

Figure 4: Candidates’ Performance in Question 4

The data shows that, 97.47 per cent of the candidates had a weak performance
in this question as they scored from 0.0 to 2.5 marks. Further analysis shows
that, (0.11%) candidates scored 2.5 marks while (91.57%) candidates scored
zero. Some of these skipped the question. Also, some of them failed to identify
the requirements of the question. Consequently, they provided information that
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was not required in the question. One of the candidates for example, in item (1)
wrote: ‘Liu-f/ G il S ¢ jlaaidl Jidll i " instead of @idll e & il Jadl i
LS4 g ft,-r &l 13/ The candidate was Wrong since it does not correlate with

the appropriate answer.

In item (2), the candidate wrote, "Jedll Cad i uﬂd/u-fa éﬂﬁif/ Jadl
instead Of "55idll (4 4y Ediad) 1) 38l o § laddl Jidl i " The candidate
failed to provide appropriate response.

In item (3), the candidate wrote "dacy gsfie Jed S o8l o ja%h a8 i
instead of "4siudll G4 4 Gulall g pod 0 AL Juali A 13 g8l o 4a¥) RS A
Extract 4.1 is a sample of weak responses from one of the candidates.

J_r‘ls) jmn
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Extract 4.1: A Sample of the Candidates’ Responses to Question 4

Extract 4.1 is a sample of responses from one of the candidates who failed to
provide responses appropriately and mixed them with some Swabhili words.

Further analysis of the candidates’ responses shows that, (1.04%) candidates
had an average performance in the question. Some of the candidates in this
category were able to respond correctly to one item. Some of the candidates
answered correctly one item while in other items responded with grammatical
errors. There were, however, some of the candidates’ responses which were
affected by grammatical errors in all items. This average performance implies
that, the candidates had a partial knowledge of conditions of al-binaai and al-
i’iraab (<& ¥ sUdl Jisa)).
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On the other hand, some of the candidates (1.49%) performed well in this
question. The candidates who scored full marks for example, responded
correctly to the question.

In item (1), candidates were required to describe the conditions for the present
tense to be structured in fat-h (il A& £ tadl Jidll 4 2. The candidates
who answered this item appropriately wrote:

LG G 4 Gl 1) @l e fladd Jidll A then they gave appropriate
example on it.

Item (2) required candidates to describe the conditions for the present tense to
be structured in sukun (fedsd o ¢ Ladl Jaéll A 9. The candidates who
answered this item appropriately wrote:

Sgladll Ggd a4y Eudaad) 1) a8l B g L) JRdll L then, they gave appropriate
example on it.

Item (3) required candidates to describe the conditions for the imperative verb
to be structured in sukun (oSl Ao ¥/ Jod v 4). The candidates who were
able to answer this item appropriately responded:

b 0 AL Juali A 1) g8l o ¥ 28 44 then, they gave appropriate example
on it.

Therefore, these candidates in this category had sufficient knowledge on the

conditions for the tenses to be structured (dujif/ sl JI53). Extract 4.2 shows a
sample of good responses to this question.
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Extract 4.2: A Sample of the Candidates’ Responses to Question 4

Extract 4.2 is a sample of responses from one of the candidates who managed to
answer the question.

2.2.3 Question 5: Exception (£L&iy)

This question had six items about exclusion (;’Lﬁt&Yl). In this question, the
candidates were instructed to change the sentences given to be in exclusion style
(sLidisyl &L, Also, the candidates were required to consider an appropriate

vowel at the end of the excluded word (‘,-:-m-u) after that changes. The question
was:
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The question was attempted by 14,681 (100.00%) candidates and their
performance was generally weak. The data shows that, 13,556 (92.34%)
candidates scored from 0.0 to 2.5 marks, which is a weak performance. Also,
217 (1.48%) candidates scored from 3.0 to 5.5 marks, which is an average
performance. Lastly, 908 (6.18%) candidates scored from 6.0 to 9.0 marks,
which is a good performance. The overall performance in this question weak as
summarised in Figure 5.

100 92.34
90 -
80 -
70 -
60 -
50 -
40 -
30 -
20 -

10 148 0.18

0 - , , |
0.0-125 30-55 6.0-9.0
Scores

Percentage of Candidates

Figure 5: Candidates’ Performance in Question 5
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The data shows that, the candidates who scored from 0.0 to 2.5 were weak in
exclusion (éLi’fd-&YO. Consequently, they provided information that was not
required in the question. Furthermore, some of them took some words from
other questions and presented them as correct responses to this question, while
others skipped the question.

Extract 5.1 is a sample of weak responses from a candidate who scored zero in
question 5.

st CHES N AR LS TS
e eJl- ;.J;S\‘,\u eir]
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Extract 5.1: A Sample of the Candidates’ Responses to Question 5

The extract 5.1 is a sample of weak responses from the candidate who failed to
change sentences given into exclusion style.

However, the data show that (1.48%) candidates had an average performance in
this question. The candidates in this group left some parts of the question
unanswered. In addition, some of them were able to answer some of the parts.
This indicates that they had partial knowledge of exclusion (éﬁi&yo.

On the other hand, some of the candidates had a good performance in this
question as they scored from 6.0 to 9.0 marks. Among the candidates who
scored from 6.0 to 9.0 marks, 40.13 per cent scored full marks in this question.
One of the candidates for example, answered the question correctly as follows:

In item (L) wrote "4us ¥) &tk &aain (Al female students passed except one),
in item (2), they wrote "l ) M5 &30 (Al boys came back except Salim),
in item (3) "s3& ¥) J&8 wae (All cows returned except one), in item (4) s
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Ml ¥) el b iy (All students attended according to the appointment
except one), in item (5): "a® )3 ¥ Gud iy e@" (All students understood the
lesson except Ibrahim) and in item (6) they wrote: Maaald ) il Kuafil) i il (All
female students left except Fatma). Extract 5.2 is a sample of good responses
from one of the candidates who scored all marks allocated to this question.
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Extract 5.2: A Sample of the Candidates’ Responses to Question 5

Extract 5.2 is a sample of good responses from the candidate who changed
sentences into exclusion style in all parts of the question correctly.

2.2.4 Question 6: Morphological Balance (Word patterns) (gdic/ L),

This question was about Morphological Balance (G« GLiad). It comprised
six items. The candidates were instructed to give patterns of provided verbs
(M29% oLis)) in the question. The question was:

L e ol u\.dSllwmﬂ\}aﬂ\uﬂﬁﬂlulﬂ\mlﬁw6
d&dhu\ﬂl&g“ﬁ\uulﬁlwcumﬂl\M&Afﬁh
d.\lm - u\.Lu...u\ - C);J - fl&-c eh-t._w L’).n"d-\

The question was attempted by 14,681 (100.00%) candidates and their
performance was generally weak. The data shows that, 12431 (84.67%)
candidates scored from 0.0 to 2.5 marks, which is a weak performance. Also,
1,356 (9.24%) candidates scored from 3.0 to 5.5 marks, which is an average
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performance. Lastly, 894 (6.09%) candidates scored from 6.0 to 9.0 marks,
which is a good performance. The overall performance in this question is
summarized in Figure 6.
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Figure 6: Candidates’ Performance in Question 6

The analysis shows that, (84.67%) candidates had a weak performance in this
question. However, (4.69%) candidates scored from 0.5 to 2.5. The data
analysis shows that, 79.99 per cent of the candidates scored zero in this
question. They failed to provide appropriate patterns for the verbs given. Some
of them copied some words from other areas in the question paper and used
them as their answers. There were, however, some of the candidates who left
the questions unanswered. Also, there were those who did not understand the
demand of the question. One of the candidates, for example, in item (/) wrote:
() — pugd — G Jd), in item (<) wrote: (ol — i~ b)), in item (z) wrote: ( AT
Al — al€i ) In item (3) wrote: (.34 — £33, Also, in item (»), the candidate
wrote: (ehid — qihily — cbid) and finally in item (s) wrote: ( — Qi — Jitd
itd),

Extract 6.1 shows a sample of a weak response from one of the candidates in
this question.
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Extract 6.1: A Sample of the Candidates’ Responses to Question 6

The extract 6.1 is a sample of responses from the candidate who provided
incorrect answers. From item one to three for example, the candidate changed
the verbs to noun.

Further analysis of the candidates’ responses shows that, 9.24 per cent of the
candidates had an average performance in the question. The candidates scored
from 3.0 to 5.5 marks. However, the largest group in this category scored 4.5
marks. This average performance implies that the candidates had a partial
knowledge of morphological balance (word patterns) (Gl /e,

On the other hand, competent candidates were aware of the Arabic words’
patterns. They managed to write appropriate patterns of the verbs as per Arabic
morphology rules («i=/ eb) The candidates understood that, the main pattern
of any verb in Arabic Language is balanced by three letters (J=9; in which the
first letter of a verb is called (J&d £, the second one is called (J&dff ) and
the last one is (Juf/ 4¥). However, they understood whether the word is simple
or complex verb (4 S J&d. On the other hand, they were aware of a
number of letters found in a verb consisting of three, four, five or six letters. In
addition, they were aware about vowels (&3) and sakinaat found in the verbs.

The candidates who scored full marks in this question, for example, understood

that/, the appropriate patterns (c-u-«l-u-f/ wﬂ/) in the item (1) was (Jfé in item (2)
(J29, in item (3) (), in item (4) (&9, in item (5) (JeZ) and in the last item
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(6) was (Jeld). Extract 6.2 is a sample of good responses from one of the
candidates:
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Extract 6.2: A Sample of the Candidates’ Responses to Question 6

The extract is a sample of good responses from one of the candidates who
managed to write pattern of the given verbs correctly.

2.2.5 Question 7: Noun
This question was about Noun (Types of nouns in terms of singular, duality and
plural). It had six items. The candidates were required to convert underlined
plural nouns into singular form and to consider changes that may occur. It
measured the candidates’ knowledge of types of nouns in terms of singular,

duality and plural. The question was:
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The question was attempted by 14,681 (100.00%) candidates. A total of 13,109
(89.29%) candidates scored from 0.0 to 2.5 marks, which is a weak
performance. In addition, 1,236 (8.42%) candidates scored from 3.0 to 5.5
marks, which is an average performance. Lastly, 336 (2.29%) candidates scored
from 6.0 to 9.0 marks, which is a good performance. The general performance
in this question was weak as 1,572 (10.71%) candidates scored from 3.0 to 9.0
marks. The overall candidates’ performance in the question is summarised in
Figure 7.
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The data analysis shows that, the candidates (89.29%) had a weak performance
in this question. They were incompetent in the types of nouns according to
number (e ua e awdf aludl). Consequently, some of them left the question
unanswered and some of them copied some words from other questions and
used them as answers. Furthermore, some of the candidates copied some words
from the stem of this question (the statement of the question) and used them as
answers for this question. In addition, some of the candidates did not understand

Figure 7: Candidates’ Performance in Question 7

the demand of the question. Extract 7.1 is a sample of weak responses.
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Extract 7.1: A Sample of the Candidates’ Responses to Question 7

Extract 7.1 is sample of responses from a candidate who failed in this question.

Further analysis of the candidates’ responses shows that, (4.42%) candidates
had an average performance in the question. Some of the candidates were able
to answer some parts correctly. In addition, there were some candidates who
answered some parts; however, among those parts they answered, there were
some grammatical errors. Some of the candidates responded to all items with
some minor grammatical errors. This average performance implies that, the
candidates had partial knowledge of the topic.

On the contrary, some of the candidates (2.29%) had a good performance in this
question. The data shows that, 0.33 per cent of the candidates scored full marks
in this question. The candidates were able to respond to the question as follow:
In item (1); they wrote: (uJW/ Gujddd) geiall) (The teacher gave advice to
students), in item (2); they wrote: (FLHY/ub 1a_>’/ <ibey) (Mother is interacting
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politely with children), in item (3); they wrote: (Jm-f/gﬁ Lk U—’@ (I saw a
student in the class), in item (4); they wrote: (4-h4-\ e lal 55ja u% (In
Zanzibar Islands there is a beautiful city), in item (5); they wrote: ( &4 LLd LidaLs
459 (We saw a shop at Kariakoo) and in item (6); they wrote: (4L ods)
(This is an orange). The candidates managed to respond correctly because they
understood how to convert plural nouns to singular and to change what was
necessary. Extract 7.2 is a sample of responses from the candidate who
responded to the question correctly.

7 ot w‘*’“ asok -

oD Je BN ,g.s@m_:»

t ; A"- ,i_l,_ _3 UUv’_c.’.._u_‘)_:l

Extract 7.2: A Sample of the Candidates’ Responses to Question 7

The Extract 7.2 shows a sample of good responses from one of the candidates
who answered the question.

2.2.6 Question 8: Comprehension

The question was about reading for comprehension. It had six items. The
candidates were required to read the passage and answer the questions from the
given passage. The main content of this passage was about responsibilities of a
teacher and students. The question was:
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The question was attempted by 14,682 (100.00%) candidates. Among them
10,551 (71.87%) candidates scored from 0.0 to 2.5 marks which is a weak
performance. Also, 3,031 candidates (20.65%) scored from 3.0 to 5.5 marks
which is an average performance. Yet, 1,099 (7.49%) candidates scored from
6.0 to 9.0 marks, which is a good performance. Therefore, the candidates'
general performance in this question was weak, considering that 4,130 (28.13%)
candidates scored from 3.0 to 9.0 marks. The overall candidates’ performance in
the question is summarised in Figure 8.
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Figure 8: Candidates’ Performance in Question 8

The data shows that, 71.86 per cent of the candidates performed weakly. Those
who scored from 1 to 2 marks understood something from the passage. Further
analysis shows that, 38.63 per cent of the candidates scored zero. These
candidates did not understand the message of the passage completely. There
were, however, some of them who did not recognize the demand of the question
due to poor mastery of the Arabic Language. On the other hand, some of the
candidates copied words from other questions and used them as answers in this
question. These candidates had inadequate reading for comprehension skills.
Consequently, they provided incorrect responses to all items in this question.
Extract 8.1 shows a sample of a weak response from one of the candidates in
this question.

35



L

e 130 T)s AAGGTHR.

TR

&

Giagle Jel e 2281 G 152 ol

jad aSJl: {“J x)LmX@ \ZALe -4 ij),_

< J

gl 33zl (Vzu__f;;,;ll Czi] e M

A3 Ty

Extract 8.1: A Sample of the Candidates’ Responses to Question 8

The Extract 8.1 shows a sample of responses from one of the candidates who
failed to answer the question correctly. He/she lacked ability of reading for
comprehension skills, thus led them to guess and copy some words found in the
passage.

Furthermore, the analysis indicates that, 431 (2.60%) candidates scored from 3.0
to 5.5 marks, which is an average performance in this question. Majority of the
candidates (6.70%) were able to answer correctly only two parts of the question.
Consequently, they scored three marks. This suggests that they had partial
knowledge of the Arabic language and vocabulary.
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As shown in the analysis, the candidates with a good performance in the
question had scores ranging from 6.0 to 9.0 marks. The data shows that, 1.29
scored full marks in this question. They were able to provide the appropriate
responses to the items given according to the passage. Also, they had enough
skills in reading for comprehension. Extract 8.2 is a sample of a good answer.

~

Extract 8.2: A Sample of the Candidates’ Responses to Question 8

Extract 8.2 shows a sample of a response from one of the candidates who
provided correct answers.
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2.3 SECTION C: Composition

This section had three questions: one question was about letter writing. While
the rest two questions were about literary works. The candidates were required
to attempt only two questions in this section. Each question carried fifteen (15)
marks, making a total of 30 marks.

2.3.1 Question 9: Letter Writing

The question required the candidate to write a letter to the employer to ask for
an increase of the salary after being in the job for a long time. The question was:

-'fja

n ot ii" Wy e .J" p ‘:" 1 (%4
The question was attempted by 10,851 (73.91%) candidates. The general
performance in this question was average, as 31.96 per cent of the candidates
who attempted this question scored from 4.5 to 14.5 marks. Furthermore, the
analysis of the candidates who attempted the question shows that, 732 (6.75%)
candidates scored from 10.0 to 14.5 marks, which is a good performance, 2,735
(25.21%) candidates scored from 4.5 to 9.5 marks, which is an average

performance and 7,384 (68.04%) candidates scored from 0.0 to 4.0 marks,
which is a weak. The performance in this question is summarised in Figure 9.

100 -
90 -
80 -
70 -
60 -
50
40 -
30 | 25.21

20 -
1o | 6.75

o - , , I
0.0-4.0 4.5-95 10.0 - 14.5
Scores

68.04

Percentage of Candidates

Figure 9: Candidates’ Performance in Question 9
The analysis shows that 6.75 per cent of the candidates who attempted this
question scored from 0.0 to 4.0 marks out of 15.0 marks allocated to this
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question which is a weak performance. Some of the candidates in this category,
wrote the address of the letter and its introduction. With regard to the candidates
who scored zero in the question, they completely failed to write the letter. The
candidates showed weaknesses such as repeating the question in their responses,
copying some words from other questions and using them as answers and
providing unclear explanations. This shows that, the candidates had inadequate
knowledge of letter writing and insufficient vocabulary. Extract 9.1 is a sample
of weak responses.
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Extract 9.1: A Sample of the Candidates’ Responses to Question 9

Extract 9.1 shows a sample of a weak response from one of the candidates who
provided unclear explanation.
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On the other hand, some of the candidates had an average performance in this
question. These candidates managed to write the address, greeting, the main
body and conclusion, yet their response had grammatical errors. This indicates
that the candidates had insufficient vocabulary.

The analysis shows that 6.75 per cent of the candidates who attempted the
question had a good performance in this question. These candidates were able to
write the letter, as the question demanded. Although they arranged their ideas in
a good flow, their responses had very minor spelling and grammatical errors.
This implies that these candidates had both sufficient vocabulary of the Arabic
Language and good writing skills. Extract 9.2 shows a sample of good
responses.
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Extract 9.2: A Sample of the Candidates’ Responses to Question 9

Extract 9.2 is a sample of good responses from a script of a candidate who wrote
a good letter. The candidate adhered to the format of writing formal letters.
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2.3.2 Question 10: Literary Works

The question was about literary works. The question required the candidates to
prove the fact that mocking, underrating and arrogance are among
characteristics that lead to a shameful end through the book of (J4& &laf) (The
King Adil). Further, the candidates were instructed to write about this in not less
than one hundred and fifty (150) and not more than two hundred words. The
question was:

MH}“@@“G%"@”“—'M‘U"M‘J @YU;\”“
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This question was attempted by 12,825 (87.36%) candidates. The analysis of the
candidates who attempted the question shows that: 11,120 (86.71%) candidates
scored from 0.0 to 4.0 marks, which is a weak performance, 1,402 (10.93%)
candidates scored from 4.5 to 9.5 marks, which is an average performance. Yet,
303 (2.36%) candidates scored from 10.0 to 15.0 marks, which is a good
performance. The performance in this question is summarised in Figure 10.

100 -
90 -
80 -
70 -
60 -
50 -
40 -
30 -
20 - 10.93
10 - 2.36
0 . : : _—|
00-4.0 45-95 10.0-15.0
Scores

86.71

Percentage of Candidates

Figure 10: Candidates’ Performance in Question 10
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The analysis of the candidates’ responses shows that the candidates who
performed poorly in this question failed to answer the question properly. The
candidates who scored zero marks in this question provided unclear
explanations. Some of them did not understand the requirement of the question.
Other candidates copied some words from other questions and used them as
their responses. Some of the candidates just narrated the story as it is without
interpreting the given statement. The weak performance implies that the
candidates did not have adequate knowledge of the story. There were, however,
some of the candidates who explained about lessons of the book which is
contrary to the requirement of question. Extract 10.1 shows a sample of a weak
response.
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Extract 10.1: A Sample of the Candidates’ Responses to Question 10

Extract 10.1 is a sample of responses from one of the candidates who had a
weak performance. The candidate was trying to explain about teachings from
the story instead of responding to the question.

45



The candidates who scored averagely were able to identify the question's
requirement. To some extent, they had knowledge of the subject matter. Some
of them provided a relevant introduction but mixed correct and incorrect
responses in the main body. Moreover, they failed to provide exhaustive
elaborations.

The data shows that, 2.36 per cent of the candidates who attempted the question
had a good performance. These candidates answered the question correctly.
Furthermore, they organized their points appropriately, starting with the
introduction, main body and conclusion. These candidates’ good performance
shows that, they had adequate knowledge of the story of ¢(J4e <lef) (The King
Adil)’. Moreover, they showed a mastery of the Arabic Language. However,
their responses had some minor grammatical errors and spelling mistakes.
Extract 10.2 shows a sample of good responses.
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Extract 10.2: A Sample of the Candidates’ Responses to Question 10

Extract 10.2 shows a sample of responses from one of the candidates who
responded that mocking, underrating and arrogance are among characteristics
that lead to a shameful end.

2.3.3 Question 11: Literary Works

The question was about literary works. The question required the candidates to
show how the children of the King saved from death in the forest in unexpected
way through the book of (4t Juk) (Forest children). The candidates were
required to write about it in not less than one hundred and fifty (150) and not
more than two hundred words. The question was:
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The question was attempted by 5,686 (38.73%) candidates. The general
performance in this question was weak as 11.92 per cent of the candidates who
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attempted the question scored from 4.5 to 15.0 marks. Furthermore, the analysis
of the candidates who attempted the question shows that, 5,008 (88.08%)
candidates scored from 0.0 to 4.0 marks, which is a weak performance. Yet, 566
(9.95%) candidates scored from 4.5 to 9.5 marks, which is an average
performance. Also, 112 (1.97%) candidates scored from 10.0 to 15.0 marks,
which is a good performance. The performance in the question is summarised in
Figure 11.

Scores

m0.0-4.0
45-95
m10.0-15.0

D

1.97%

Figure 11: Candidates’ Performance in Question 11

The data analysis shows that, most of the candidates who failed wrote answers
which were not related to the demand of the question. Some of them just copied
some words from the questions and used them as their answers to this question.
There were, however, some of them just explained lessons of the book of ( Jwib/
444 instead of correlating with the question’s demand. This shows that most of
them had poor mastery of the Arabic Language and writing skills. Extract 11.1
is a sample of poor responses from one of the candidates.
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Extract 11.1: A Sample of the Candidates’ Responses to Question 11

Extract 11.1 is a sample of responses from the candidates who had a weak
performance. The candidate explained about lessons from the story instead of
answering what was asked in this question.

However, few candidates had an average performance in this question. These
candidates showed how the children of the king saved from death in the forest in
unexpected way through the book of (<& Juéb) (Forest children). However,
most of them failed to organize their points in a good order and did not provide
sufficient explanations. Additionally, their responses had a lot of grammatical
mistakes and spelling errors.

The candidates who performed well in this question responded to the question
as required. Furthermore, they organized their points appropriately, starting with
the introduction, main body and conclusion. The candidates’ good performance
shows that, they had adequate knowledge of the story of (4if Juib) (Forest
children). Moreover, they had sufficient knowledge of analyzing and
summarizing the Arabic Language story. However, their responses had slight
grammatical errors and spelling mistakes. Extract 11.2 shows a sample of part
of candidate’s answer who had a good performance.
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Extract 11.2: A Sample of Part of Candidates’ Answer to Question 11

Extract 11.2 shows a sample of part of candidate’s answer who had a good
performance.
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3.0

4.0

ANALYSIS OF CANDIDATES’ PERFORMANCE ON EACH TOPIC

The Arabic Language Examination involved the following topics: Adverb
(Adverbs of Time and Place) («4&/); Conjuction («i&ef); Adverb of State
(Ja); Nawaasikh: Kaana and their Partners (&ilsils olS) gl sif)); Types of
Verbs in terms of time (oei/ dus (e Jadll alud); Pronouns (tedl); Signs of
Origin and Unorigin vowels (4e_dly Lda¥/ ol eyl clade); Al-adabu (<), Al-
hagiigatu and Al-majaaz (Jtaells 4édat); Meaningful sentence (Sadelf 4laal);
Letters (cLitwsd); Interrogative Particles (algdiwdy <igd); Reading for
Comprehension (a¢ill 5214) ; Patterns of Words (4= & iel) ; Selected Story
Books (s tsal i) Noun(awY/); Exceptionality (sLiiwd/)and The State of Al-
binaa and I'iraab («Le ¥y slidl Jiga)),

The topics with average performance were: Adverb (Adverbs of Time and Place)
(«4%), Conjuction («i&e)), Adverb of State (JaJ), Nawaasikh: Kaana and their
Partners (L=lsils oLS) el i), Types of Verbs in terms of time ( Sus (o Jodlf aledf
&= ), Pronouns (-tef), Signs of Origin and Unorigin Vowels ( «/Le Y/ cladle
Le iy Lda¥), Al-adabu («~¥), Al-hagiigatu and Al-majaaz (Jlaalls 4édal),
Meaningful Sentence (étdef 4laaf) in question question 1 (41.35%). On the
other hand, other topics with the average performance were: Letters (it )
(31.95%) and Interrogative Particles, (agiiad/ </s9)) (29.58%)

Furthermore, the following topics had a weak performance: Reading for
comprehension (agdlf 5¢/4%) (28.13%), Patterns of Words (.4xall oLisel) (15.33%),
Selected Story Books (sidel i) (12.61%), Noun (a«¥) (10.71%),
Exceptionality (eLiiwdl) (7.66%), Meaningful Sentence (sdsl Leat) (6.36%) and
The State of Al-binaa and I'iraab («Le ¥l sl Jisa)) (2.53%).

CONCLUSION

The general performance of Arabic Language subject was weak. This has been
contributed by a poor performance in the topics Reading for Comprehension
(Al 5¢/4d) (28.13%), Patterns of Words (Axal olial) (15.33%), Selected
Story Books (sstidel cuigh) (12.61%), Noun (a«¥/) (10.71%), Exceptionality
(¢LiiuY)) (7.66%), Meaningful Sentence (é+dal <Laat) (6.36%) and The State of
Al-binaa and I'iraab («Le¥ls sl Jisa)) (2.53). However, there were some of
the students who had an average and a good performance in these topics. The
deliberate efforts are needed to raise the level of performance in those topics.
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5.0 RECOMMENDATIONS

(@)

(b)

(©)

(d)

(€)

(f)

Provision of enough exercises to students: The exercises should involve
every aspect of the topic taught. This will help the students to understand
the topic in detail.

Acquisition of sufficient vocabulary. Although both words and sentences
structures in the Arabic Language subject are important, having sufficient
vocabulary is also important. Teacher should prepare a program to enable
students to acquire new vocabulary.

Response to essay questions: Students should be taught how to respond to
essay question, including how to write good introduction, main body and
conclusion. In the main body for example, the students should be taught
basic things to consider such as how to start a new paragraph, how to
organize sentences in a paragraph and how to close the paragraph.

Drills on grammar. Teachers should guide students to study a given
grammar text. Students should identify the grammar practice and give
examples based on that grammar.

Teachers should guide students to study Swarfu books. This will help them
to understand Patterns of Words 4 s/ /il

Learning oral skills. Teachers should guide students to express their daily
routine and past events using simple sentences to enable them to express
themselves in Arabic Language.
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Appendix:

SUMMARY OF CANDIDATES’ PERFORMANCE IN ARABIC LANGUAGE
SUBJECT IN 2023

2023

S/N

Topics

Number
of
Questions

Percentage of
Candidates
who Scored an
Average of
30% of Marks
or Above

Candidates’
Performance
by Topic

Remarks

Adverbs (Adverbs of
Time and Place)
(LA, Conjuction
(~ike)), Adverb of State
(Jdh, Nawaasikh:
Kaana and  their
Partners ( o) gwlsil)
ilsi)g), Types of
Verbs in terms of time
(il e (o Jodl) aledd),
Pronouns (ALa),
Signs of Origin and un
Origin vowels ( <l
Leily La¥) cley),
Al-adabu (<99,
Alhagiigatu and Al-
majaaz (Jaelly didal),
Meaningful  Sentence
(el o),

41.35

Average

Letters(titw )

31.96

31.95

Average

Interrogative Particles

29.58

29.58

Average
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2023

Candidates’
Percentage of | Performance
Candidates by Topic

Number who Scored an
SIN Topics of Remarks
Questions Average of
30% of Marks
or Above

=
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